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All questions are compulsory.
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Question Nos. 1 to 8 are very short answer type questions. Each question

carries 1 mark.
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Question Nos. 9 to 12 are short answer type questions. Each question carries

3 marks. Maximum word limit of answer is 50 words.
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Questicn Nos. 13 to 18 are long answer typo questions Each question carnes

4 marks FEach queston has internal choice Maximum word limit of answer Is

75 words.
TS FUE 19§ 24 A3 AW I W P wRIE qvy W 6 3w rERa El vam

ge 8 woRe frrm &) TR & sfeaw wm dwooso o @)
Question Nos. 19 to 24 are long answer type questions Each question carries

6 marks. Each question has internal choice. Maximum word limit of answer 1S

250 words

(¥ 7rg Ieda qe)

(Very Short Answer Type Questions)
e geu R dEa 2 — - - i
What is the equilibrium price ?
AT A% & g W he dar @0
How do gradient normality of demand curve occurs ?
qra Hgl & JereIm
Give an example of credit money
sftfasd gfeer e smvasar & ofd = &>
What is the overdraft facility that serves the needs ?
e X foR wed €0
What is called indirect taxes ?
o W s fee ad & @ @

How many years coes the budcel penod ?
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-7, fR fafea @ R sl 7 1
What do you mean by foreign exchange rate ?
RE-8. WA 9 & ik % 4m fafa

Write the name of the account of batance of payment.

(erg Fordia W)
(Short Answer Type Questions)
ge-5. fr=fdfam o 3 @ #ifie: 1%2+1Yym3
TR T | A A ; Rada amd | | dmE
T 3 T
0 12
1 11 J C e
2 21
Complete the following table -
Production unit Total cost Total variable cost | Marginal cost
? T 2 i
0 2
1 18 | ........... s
2 21 | R
ge-10. o sirf e @l Gfee (@d &) 14141=3
Write the characteristics of perfect competition market (Any three)
fE-11.  IRa e ar = fEw 4 s we Fifm 1+1+1=3

Explain the difference between the induced investment and autonomous

investment.
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W-12, P & fRvunee @ aren Hw
Explain the paradox of thrift.

(&d 3989 wew)
(Long Answer Type Questions)
RE-13. SR YT e @) 86 Y & wm ffe (@ ma fetetel=4
Write the measures for cofrect adveorse balance of payment. (Any four)
an / OR
90 maw-Frla e g Iua-Fofa @ amwmu 242=4
Explain visible import-export and invisible import-export.
-4, g B Rdmaw ffee @ oR) 14141414
Write the charactenstics of the budget. (Any four)
FuMI/IOR
MéAD T & gen @ e (@ ar)
Write the types of public.expenditure. (Any four)
we-15.  @fe W i sdoe & 3R e @ oR) 14141414
Distinguish between micro-economics and macro-economics. (Any four)

v/ OR
M W ot e (@ oR)

Wirile the assumption of production possibility curve, (Any four)
WE-16. 30T A ¥ A T quwd # 7 T A O R AT} 3iR aeEe| 14324

What do you mean by production cost 2 Distinguish between explicit cost and

implicit cost

3Ya /OR

mﬁnﬁmmhﬁ&nﬁmﬁmﬁrﬁm (@ IR
Write difference between

1+1+1+1=4
returns to a factor and retumns to scale. (Any four)
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2 arn el 7D 3 T WG ® BEOE By

ge-17.  awq fafma sond H wfargan
242=4

fagan ?
stem. HOW did money solve this problem ?

Explain the difficulties of barter SY

e / OR

e HfFC (@ ar) 1+1+1+134

&ﬂuhmmﬁmaﬁﬂﬂm

en central bank and commercial ba

a%ra 7O (GNP)

Explain the difference betwe nk. (Any four)

ﬁqmammmmmwop)uﬁm

qeI-18.
o BIAC ¢ 2+2=4
= T = 4
(1) s awgel va dADD BT 9,300
(2) qotma aegEh vd danh I 6,100 .
(3)  3mama | 1,800
(4) Fata 2.000

Based on the following information, calculate Gross Domestic Product (GDP)

and Gross National Product (GNP) .

items T in Crore
(1) Production of consumer goods and services Q9.300
(2)  Production of capital goods and services 6,100
(3)  Import 1,800
(4)  Export 2,000
P.T.¢
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sizar/ OR
Frtfafiey shogt @ ¥ B 3 80 A ya & mwen P
04 ? iy A
(1 A= 30,000
(20 frm 10,000
(3) am 10,000
(4) ®&NH 10,000
(5)  3usm 50,000
(6) wam wy A 4.000
Based on the following information, calculate National Incoma by Income Method -
tems T in Crore
(1)  Satary 30,000
(2) Rent 10,000
(3) Profit '0,000
(4) Interest 10.000
(§5)  Consumption 50 000
(6) Gross Domestic investment 4,000
(& 3ot v

(Long Answer Type Questions)
ME-19.  Rdit am @ quRd ¥ v e @ TUEET! (B T) 1414141 +1+1=6
Explain the fiscal measures 1o correct excess demand. (Any six)
Sua / OR
BN B AR A A s e @8 o)

Criticise the Keynesian theory of employment. (Any six)
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W A T d ofx a) ez o &R R 7 T I A oy v ok e

I+3eg

W =20,

&fam

Why Is the rate of rise in national mcome In India slow ? Give your suggestions

to increase natona! INncome

3reqar { OR
mﬁmﬁmﬁmwmm*ﬁww"ﬂm%mﬂma

e # R i 1m s 4 24242=6
Explain the problem of doyble counting &8s Clear by example and how 1o avoid

the problem of double counting ?
b
T2 TS AW A B iR e e B e B (@ B 11414141416

Explain the factors affecting the price elasticity of demand. (Any six)

Jugt/ OR
ARy TR UM s ww Al @ arem dfw 145=¢

Whal is the meaning of demand ? Explain the main elements of demand.
WE-22. IR B wqM @ wh aren S 1%41%41%+1%26
Explain consumer equilibrium with diagram,
Fuar/ OR
i IR e B @ Aty vd i gr weame

Explain the law of diminishing marginal utility with the help of table ang diagram
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-3, o ¥ Bow ¥ IR fafe (PF T 1+1+1+141+126

Write the exceptions of law of supply (Any s}

st / OR

&wﬁﬁm&é&éﬁ:mﬂwﬂmfﬁfmiwﬁm

Write the difference between chort period and long period production function

(Any SiX)
parferar @ vt o # F W £fwo @ ®) 1+141+1+1+1=6

-4,

Distinguish between monopoly and monopolistic competition. (Any six)

Fwua /i OR

be
asR qea @ R el B B

Wrile the charactenstics of market pnce. (Any six)
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